 EQ \b(625x\s\up2(6)125x\s\up2(15)):15625x\s\up2(16)=-160 
 EQ \b(78125x\s\up2(6)x\s\up2(15)):15625x\s\up2(16)=-160 
 EQ \b(78125x\s\up2(21)):15625x\s\up2(16)=-160 
Перенесем все в левую часть.

 EQ \b(78125x\s\up2(21)):15625x\s\up2(16)+160=0 
Преобразуем деление в дробь.

 EQ \f(\b(78125x\s\up2(21))x\s\up2(16);15625)+160=0 
Раскрываем скобки.

 EQ \f(78125x\s\up2(21)x\s\up2(16);15625)+160=0 
Воспользуемся свойством степеней.

 EQ \f(78125x\s\up2(37);15625)+160=0 
 EQ 5x\s\up2(37)+160=0 
 EQ 5x\s\up2(37)=-160 
 EQ x\s\up2(37)=\b(-160):5 
 EQ x\s\up2(37)=-32 
Окончательный ответ:  EQ x=-\r(37;32) 
